if”ﬁ] ¢¢£®‘”ﬁi
ﬁ%%ﬁéiﬂ%iﬁé

BEORE X - BAEEDIEL ARG U EMTATP > Y22 L ARV RET A 103
104 ~105~106 ~ 107 ~ 108 ~ 109 110~ 111 BE R S5k a5 5 £ 2—‘*@&5%%%‘5&
32 A EMAHIEFERSE - 30 B LFF RS 0 PG R R T2
> AP eniT 7] o

MTANPE R ERRE PR

OFF P 5% 1P A@S DV H@dow G e~ he RRBFAP DA KL L F

@%ﬁﬁﬁié AE ARV BHAE - RBAGC S REARF B LB

OFf = % : 3 &:@a%ﬁ’éﬁi%ﬂziiwﬁuwirwpﬁo

£ 'ﬁi*ﬁbb%’ﬂi~ = B iR
# iWW“%’H$—7”B#

PR PR (R o B F22) 148
wﬁmﬁﬁ(@?}ﬁﬁ’i%ﬁiiéﬁgﬁﬂ‘ﬁﬁ’£§£W)%%Iﬁ
IARFHRA(ARBorR) 2H e K
HEerrR (RRBasfR) 24 =K

AR I~6E5nE D

DI 0 118 # 2/19(- )~113 & 6/30(p) #ir 7 BREET EH

3

>
‘%

Er o
\?ﬁ \\\?{r

\\\ Iy

5 ¥y - = T = B

P R T = 17:30~19: 30 T = 17:30~19: 30 T 19:00~21:00 T -=16:00~18 : 00 T 16:00~18: 00

PR BE L T R ERE

foF >3 0B BRFE 5529 ~
[1 =%kgsamy 600%3( & )*19(ik )=34200/7(C * )=4886/0. 9(i7 ¥x ¥ )=5429+100(%
B)=5529) feB g * #r Az EH REIIRE E o UL KRBT T

B SulE DR . jé\m% eI F sranip R 4 ST igxg‘__ﬁx’ﬁﬁmgl—# BTG
SRR AR DR R St AT SR S AR S R 5

M £ A A4 2 2 R L FEIRY P K S5 KR IR 800 &

1M2(F) EHmRABNZFERARERE  wezRERLD)

LS BRETE FAvPEEL | E
Al C A T & A 4 &R
=2
i3

KR L34 gadrs LPE] @@»’fﬁ%ﬁﬁééﬁiﬁﬁ%ﬁo
&

e
gi
T

—\“b

2 3 p

MR L2 12/8(I)F I EBAMT e FHERF LAEB UM EFLE4 14 87




